MISCELLANEOUS QUESTIONS

[SET - 23]

1. In the following question, select the odd number pair
from the given alternatives.

(@17-12 (b)29-14 (c)21-16 (d)31-26

2. In the following question, select the odd number pair
from the given alternatives.
(@3-27 (b)7-49 (c)5-125 (d)6-216
Directions (3-4): Arrange the given words in the sequence
in which they occur in the dictionary.

3. 1. Mobile 2. Manage 3. Merger 4. Merged 5. Mango

(a) 25341 (b) 25431 (c) 24351 (d) 54132

4.1. Strain 2. Strom 3. Stark 4. Stored 5. Stamp

(a) 54312 (b) 53421 (c) 53412 (d) 54321
Directions (5-6): A series is given with one term missing.
Select the correct alternative from the given ones that will

complete the series.

5. AD, CE, EF, GG, ?

@I (b)IH (©H (d)I
6. AZ, DY, IX, PW, ?
@YY ()Y (©WV (d)W

Directions (7-8): In the following question, select the
missing number from the given series.

7. 7,10,14,19,25,?

@32 (b)36 ()38 (d)40

8.1,7,396,12,10,16,15,?

(@18 (b)15 (c)20 (d)21

9. Mohini is taller than Nita but not shorter than Sarita.
Sarita and Malini are of same height. Mohini is shorter that
Hema. Among them, who is the second tallest?

(a) Mohini (b) Sarita (c) Hema (d) Can't be determined
10. Present age of Soham is one third of his father's
present age. 5 years ago Soham's father's age was half the
age of Soham's grandfather. If Soham's grandfather will
celebrate his 88th birthday after 3 years, then what is the
present age (in years) of Soham?

(@18 ()15 (c)16 (d)20

Directions (11-12): In the following question, select the
related word from the given alternatives.

11. Car: Road: : Rail : ?

(a) Water  (b) Air (c)Road (d) Track
12. Light : Lumen::?:?

(b) Density : Kilogram
(d) Force : Meter

(a) Temperature : Candela
(c) Pressure : Pascal

Directions (13-14): In the following question, select the
related letters from the given alternatives.

13. BGMR : DIOT : : SNOV : ?

(a) UPXQ (b) QPUX  (c) UMPW  (d) UPQX
14. UVYWX : YYYY :: ABCD : ?
(a) YYYY (b)EEEE  (c)DDDD  (d) FFFF

Directions (15-16): In the following question, select the
related number from the given alternatives.

15.12:156::14:7?

(@195  (b)205 (c)208  (d)210
16.102: 10404 :: 104 : ?
(a) 10202 (b) 10404  (c) 10804  (d) 10816

17. In the following question, select the odd word from the
given alternatives.

(a) Lemon (b) Carrot  (c) Beetroot (d) Turnip

18. In the following question, select the odd word from the
given alternatives.

(a) Sentence  (b) Letter  (c) Word  (d) Paragraph
19. In the following question, select the odd letters from
the given alternatives.

(a) ADG (b) CFI (c) IMQ (d) svy

20. In the following question, select the odd letters from
the given alternatives.

(a) DWEV (b) HSIR (c) KPLO (d) PKQl
21.1f'P 3 Q' means 'P is daughter of Q', 'P 5 Q' means 'P is
father of Q','P 7 Q' means 'P is mother of Q'and 'P 9 Q'
means 'P is sister of Q', then how is J related to K in

J3LIN30O5K?



(a) Mother (b) Wife (c) Niece (d) Daughter

Directions (22-23): In the following question, select the
word which cannot be formed using the letters of the given
word.

22. RIVALRIES

(a) RIVAL  (b) RICE (c) SEAL (d) RISE

23. DICTIONARIES

(a) CATION  (b) SITE (c) DICTATE (d) TIRED

24. In a certain code language, "he is game" is written as
"@#*", "good game play" is written as "$*&"and" play that
hard" is written as "I$%".How is "good" written in that code

language?

@& (O* (@©% @e

25. In a certain code language, "CAB" is written as "6" and
"LEG" is written as "6". How is "MAP" written in that code
language?

@6 (b4 (©)3 (d)8



